CASE STUDY

e Bobby and Abhi went to a sweet shop. There were 38 gulab
jamuns , 24 jalebis, 40 rasgullas and 55 laddus.

Tick ( v/ ) the correct option :-

1. Which sweet was minimum in number ?

a. Gulab jamun b. Jalebi c. Rasgulla d. Laddu

2. How many types of sweets were there ?

a.3 b. 2 c. 1 d. 4
3. Rasgullas were in number than gulab jamuns.
a. more b. less c. equal d . many
4. Jalebis were in number.
a. maximum b. minimum  c. smallest d. biggest

5. Rearrange the sweets in descending order.

a. Rasgulla, Gulab jamun, Laddu, Jalebi
b. Gulab jamun, Rasgulla, Jalebi, Laddu
c. Laddu, Rasgulla, Gulab jamun, Jalebi
d. Jalebi, Laddu , Gulab jamun, Rasgulla



